| ? ?
1072 r . : ;
o5kl q ------ S

190%-| ranan

a(d cot(d))
5

=107

o(d @) (rad)
T T T IIIIII
—

107

10
10

190%-| nan

Ratl
Ratl

0953 10 1 2 3 0953 10 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

I T S S SO SO ‘

—s=— DQM_V0001_R000000001__Global__mkFitbasel_ RECO

—— DQM_V0001_R000000001__Global__mkFitbase2__RECO

z

SICEWACL
aloa,) (cm)

107}

[EEN
<

.
T

1072
1072

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

o p/p.)

,_.
<
L

237 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


